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3. Which one of the followin
numbers are terminating decimals?

L
& 2

2
'VEU

ToTAL QuESTION:

sostions, EALH quest

MAXIMUM MARKS $100

jon carry oqual marks 26

2 tho toxt paper uatil you sroasked o 4o 50
Pancit only.

(€) 643 (0) 653
{€) None of these

pne of hese, luincne =F =
The mean of 8 numbers is 25. Now 15 Is
subtracted from each number and 10 is
Sdded to cach number. What will be the
new mean?

(A) 20 (8) 15

(€22 ©25

(£} Non of these

n find the value

The digits x, y and
number xyz satisfy 64x
the number xyz.

{A) 633

REFON10/BHI

“AB and CD are two parallel chords which
are same side of a circle with centre O
\where AB = 6 and CO is double of AB. The
distance between AB and CD is 3cm. Find
the radius of the circle.

(A) 35 em (8) 53 em

. (C) 55/2em (D) 542 em

(£} None of these




[image: image2.jpg]1l the length of a rectangle is 20% greater

than the side of a square and breadth js

20% less than the side of the square,

Which one of the following is correct a5

per above statement?

(A) The perimetre of the rectangle is greater
than the perimetre of square

{8) The area of the rectangle s equal to the area
of the square.

(€) The area of the rectangle s greater than the
area of the square

(0 The area of the rectangle i less than the: area
of the square

{€) None of these

(€] 8 sq. unit
(E) Norie of these

(D) 2 5q. unit

13.In°a triangle the angle betweon interna
sector of one base angle and th

external bisector of the other base anglg
is equal to one-half of the vertical angle,
Which one of the following options 1§
correct for the above given statement?

{A) 1tis not possible

(8) itis possible
{€) 1t 5 possible when conditions are different
(D) All of these

(€] None of these

2=6,b=3,c=-4, then find the value of
%+ 8b3 + 2737
(A) 1024
{C) -1296
{E) None of these

(8) 1296
(0) -1024

1. The graph of the fine x =
(A) Parallel o x - s
(8) Parallel to y  axis
(€) Parallel to both
(D) Intersecting both () None of these

8. if (x~3) and (x + 2) are the factors of x 1
hx? — kx =30, then h and k are
respectively?
(A) (4, 11)

(€) (7. 11)
€} None of theso

9. 1f HCF of 408 and 1032 is expressed as 1032
m 408 x 5, then m is?
)2 w2
s )6
{E) None of these

(8) (4, 8)
(0} (7. 8)

30.1f @ and B are roots of f{x) = x? + px + g,

1
then the polynomial having roots o d

(B) x—pxr g

()% rarep -
() px' s aur1

(€) g’ +px+1
(€] None of these

11. The value of ‘2’ and ‘b’ for which the
system of equation 2x +y~ 5 = 0 and (a +
bJx + (2~ 2b)y ~ 15 = 0 has infinitely many
solution.

(A) (5, 1) (8) -5, 1)
(€) (5, -1 (0} (5,1
(€) None of these

12. The area of the region bounded by 2x + y
=6,2x~y +2=0and x - axis is
{A) 4 sq. unit (B) 65q. unit

1. In an office thare are 20 employces, Each
has a direct phone line to every other
employeesin the office. 2 more employess
Joined the office. How many more direet
Pphone lines must be installed in that
office?

(a23 (8) a2
(c) 2a (0 a1
(E) None of these

PR
16.1f x and y are positive integers and x + y +
Xy +1=91 thenx+y =2
(R 18 (8) %0
©) 17 (0) 18
(€] None of these

17. A teacher draws a Quadrilateral on the
blackboard and then she makes o new
quadrilateral by joining the mid points of
the adjacent sides of the quadrilateral,
Name the new quadrilateral,

(A} Roctangie - (8) Square
(€} Rhombus (0) Parallelogram
(€) None of these

18. An iron ball s in the shape of a sphere. fts
radius is one fourth of 12. This ball is
melted and drawn into a long rod of
uniform circular cross section. If the
length of rod is welve times more than
the radius of ball, then find the radius of

rod.
(%) 1em (8) 2em
(©) 3cm (0) dcm
(E) None of these
REEADM 0/RHN
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(n) 58°
() 20°
[£) None of these

20.1f AE 11 CB then find y, also DC = DB.

(®) 22°
() #2°

€ 3
—
=t
v
Lo 8
AR L
30 )45
(© 60" © 90

{€) None of these.

24.1f ABC is an equilateral triangle and D isa

1
point on BC such that 80 = , BCand A8 =
3em, then AD s

(A) 7em (8) J7em

() sem
(E) None of these

(o) J5em

(A) 80°
(€) 125°
(€] tone of these

(8) 115°
() 135"

21. If two triangles are si

¢ and their areas
are in ratio 64 : 121. The ratio of their
altitudes is

(4] 61:121

(8) 8:11

() 11:8

(D) 121:64

(£) None of these

diagonals of rhombus are 6 cm and
espectively then its side

area in‘tm?,
of the cube |
(A)1em
(©) 3em A
(£) None of these

REF/iON'10/BHN

26. The area of the shaded region?

(€) None of these

27.1n how many different ways 9 pens can
be divided among Steve, Smith and Jack
5o that Smith gets at least 3 pens Smith
and Jack at least 2 each and Jack at most
»

1

©a

{€) None of these

®2
(s
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() a0* (o) 2
(€} None of these
29. The value of ' is
A
(®) as°
(€) &0* o) %"

(£) None of these

st e oy halenn o ar- o
30.An angle is one-third of its supplement
and double of its complement. Find its
supplement and complement?
(A} 150°and 30 (8) 160" and 20"
(C] 120°and60° (D) 120" and 307
(£) None of these

31.The volume of shaded region is?

(8) 4rem’
(©) 2nem’ (0) 12mem’
(€) None of these

32. Factorize the following: a* - b? + 1 + 3ab?
(A) (a+ b
® @-op
(€) (a-be (3482 +abarbey)
() (a-b+1)(a + bZ-ab-a + b1 1)
(€) None of these

33. The volume of shaded region is?

(£) None of these

34.Which one of the following is the

coordinates of the origin?
() (1,1) (8) 10, 1)
() (1,0) (0) (0,0}

(E} None of these

35.The length of perpendicular drawn from
P(3,4,5) ony - axis is

A) V32 (8) 34
© 35 ©) a5

(€) None of these

36. The mean deviation about the mean of
the data 4,7,8,9, 10, 12,13, 17 is
()3 (®) 4
(c) 303 (©) 405
(E) None of these

37. The median of the data 4, 6, 7, 12, 8, 10,

13, 13 s
(A) 7 86
©s )9

(€) None of these

38.1n three toss of a coin
atleast 2 hoad is

the probability of

: :
(&) 3 (8) 2

s 1
(© 3 ) 3

(E) Mone of these.

o, 2. & sk
39.1f odd in favour of event is 2 : 3. The

probability is
: :

w3 L
: :

) 3 (D) 5

(E) None of these

roup of 200 people, 142 plays cricket
and 58 plays football. What is the
probability of the people chosen at
random likes cricket?

(8)028 (8) 061

(€ 071 () 051

(€) None of these
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